2024 EERIE EBEZE Al (£ 2FR)

2 € SBKXDEE

RDFTEZE L.

5x2 b) 8xy*
D o = 12x2y2
1 2 a  a?
) —x— = ) —+5=
xy X ox
3abc  8a ab y?> bc
i py WXL
¢) 242 " 9b2e ) xy x% oy
RDNENZNEL.
2x 6x2 + 6ax
= b) & T4t
2) 6x2 —x ) 3a2x
) x2—1 0 x2—x—-2
Y vix T x2—4x +4
) 41 £) a3 + 3a*b — 4ab?
e 2a2 — 4ab +2b%

MODFTEEE L.
X x2—3x+2

3) x2—1X x2 4+ 2x -
2x + 4 x—3

b) X =
x24+x—-12 x2+4+6x+38
x—4  x*—-5x+4

2 x—2 x2—-4
x2-9

d +(x*—x—6)=

) x+2 (x o )

202448268

AZEEFE) 2 §® E] &

dao

® | 2UAar

B 1

ROBEDINZRYNEL, RABKNHAERNRBEZRD K.

b)

b)

¢)

d)

b)

x2—4=
x2+4x +4=
x2—x-2=
x34+1=
x2—1=

B4 x?—x—-1=
x3—x2—x+1=

RDEFEZEH L.
2x X 5

xX+5 x+5

x—2+x+3
2x 3x

1
x x+4+1

1 1 2

a a’ —a a’>-1

4x x—1 .
x2—1 x2+x

a) x2+2xy —3y? ZRHNEEL.

FoBRZAL, ROWEFEE L.
xX—y 2 7

X2 42xy—392 x—y x+3y

x2 4 2xy —3y?

[(CH<]



RDFTEZE L.

c
ab
= b
a) ab?c )
! = d
C) 1 - )
1—
x+1
x+3 x—=2 .
)1+ ! L
X +2 x—1

RDTE=Z=B L.

(5-5)+G-)
) | ——)+(———)=
y x y X

b) 1 n X +x+6_

XxX+2 2—x x2—4

X x2 +y?

©) + - 2 y2:

xX+y X—y X< —y
d) 1 y z _

x x(x+y) +y)&x+y+z2)

b—c c—a a—>b

e)

(a+b)a+rc) + b+c)b+a) + (¢c +a)(c+b)

1B @ @B B (kuwata.04£f0g.chuo-u.ac. jp)

9] &3ICEDT, akmBENTLD 2 MR A, BH'HD. JIITD A #ISH S| ED B MIRETHTHE

be BIDLEE, MDBKTDORSZBE u km, JIIDFRNDRSZBIF vkm (v <u) EULT, ROBWICE
ad — 2. [EVh:ASENLD BHSETESHDEDRS(F (u — v) kn/BE, B HEHD A HISFETLEDRSE (U + v) kn/B5
b2

h— ]
a) FRICHDDIEZRDEK.

X b) FEDFRDRESZRHL.

c) b) TROICHHIDESE, CDREDEKTDRESZ ONDEEEHLROD

& SBER ABCD %, ABDEDVIICETRLTTEDIEN (ML) Dk
0 Bz ROBICEZTRDSE.
o a) OADES% a, b, h THRE. [EYh: OA=x &E5=, AOAD « AOBC %M

03]
DA —ip
h
c . 5 D) OBOESZEa, b, h EZANT, BENERERICERY.

¢) 87 ABCD 7z AB DFE DV (CEE LT TEMHEBDIAREZ, BC & AD ZZNTNRBDHFELTD
2 DOMEDBEDEE UTRD, ENZBZDINBRFETERE.

 PRXF



